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Problem 1
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Algorithm 1 Permute With All
Input: an array A of length n

Output: a uniform random permutation of A
l:fori=1tondo
2. swap A[i] with A[Ranoom(1,n) |
3: end for
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Problem 2
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Problem 3
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Algorithm 2 Random Sample

Input: an integer m and an integer n , where 0 < m < n
Output: a random subset of {1,2,3,--- ,n} with size m
1: procedure RanpomSampLE(m, 1)
2:  ifm =0then
return ()
end if
S = RanpomSampLE(m — 1,n — 1)
i = Ranpom(1,n)
ifi € S then
S =SuU{n}
else
10: S =Su{i}
11:  endif
12:  return S
13: end procedure

Problem 3 continued on next page... 4



TEA GRIETIEY B = PRFE R 5k : https://algorithm.cuijiacai.com

(£ 510)




TEA GRIETIEY B = PRFE R 5k : https://algorithm.cuijiacai.com

Problem 4
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Problem 5
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Problem 6
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Problem 7
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